Holidays B: Examiner's Report
Q1.
 

There were many correct responses with 58.05 as the final answer. However many candidates used the Peak prices instead of the Off peak prices whilst many others only found the cost of the tickets for 1 adult and 2 children rather than 1 adult and 3 children. Other candidates decided that the adult would be accompanied by 3 senior citizens. Some candidates did not read the question properly writing the total discount of £6.45 on the answer line rather than the total cost of the discounted tickets.

Q2.
 

Many correct answers were seen. Some students got the two operations confused, dividing by 67.1 then multiplying by 82.5.

Q3.
 

Changing £450 to euros was relatively well handled by students. A variety of incorrect approaches were also seen, with a noticeable number of students adding the exchange rate, 1.16, onto £450. A number of students used 1.6 rather than the 1.16 given in the question.

There was also a reasonably good success rate with the subsequent part (b), although premature rounding often caused the loss of the accuracy mark. A common mistake was for students to add £3.50 onto 850 euros and to give this total as their answer, not realising that 850 had first to be converted. Dividing 850 euros by £3.50 also featured. 
Q4.

Candidates had to abstract information from a complex table and then carry out calculations to reach a decision. Many candidates were able to put together the correct combinations and reach a value of £826 for shop A and/ or £794 for shop B. Very few were able to go on and the calculate the percentage reductions correctly. 

One common error was to divide the shop A total by 5 and the shop B total by 3. A second was to subtract 5p and 3p. Nevertheless many candidates were able to score marks by showing a method and reaching an appropriate conclusion based on their figures. 

Q5.
 

Almost all candidates were able to change £200 into rand successfully in part (a) but in part (b) they struggled to work to the degree of accuracy needed to gain all three marks but many were able to score one mark by giving one correct conversion from rand into pounds or pounds into rand and some were then able to put together enough conversions to get close to the required accuracy and score two marks for a complete method. The quality of the conclusions made by a significant number of candidates was not of a particularly good standard as the comments made about the items that can be purchased, did not always reflect the figures they had calculated.

Q6.

This question was not well attempted. Candidates frequently misread the scale of the graph or did not choose appropriate points to get an accurate reading. Those that did state a conversion fact, correct or incorrect, frequently did not know how to use their fact correctly to compare the prices. Some more able candidates correctly found and used a conversion fact then forgot to compare the prices. The most common incorrect response was to compare the prices as if they were both the same currency hence 'New York was $80 or £80 more expensive'.

Q7.

Students understanding of the demands of QWC (Quality of Written Communication) is still very weak. Whilst calculations were often accurate, few were able to adequately write a concluding statement to their solution.

Theme Park calculations were often thwarted by a misunderstanding of the ticket pricing; many thinking that tickets for each group of 10 cost a total of £6.50 or working out 30 lots of £6.50 and then adding £54 (£9 × the remaining 6). The coach hire of £320 was usually correctly identified. In the calculations for the concert trip, the total ticket cost (£270) was usually found, but many candidates were unable to understand the costing of the train travel.

Some candidates mixed the method of travel with the wrong trip. Some credit was still available here for correct methods to find the separate costs.

Q8.

In parts (a) and (b) the scale with 0.4 divisions caused difficulties for candidates who had made correct attempts to read off the conversion graphs so only about 30% were awarded the mark for each. Candidates clearly struggled with the compound problem in part (c) although 10% did achieve the full 4 marks. Where candidates showed a correct process to change dollars to euros then euros to pounds, some then failed to scale up to 65 dollars; there were often instances of euros or pounds being scaled to 65 instead. This was another question where candidates showing all stages of their working and setting them out in a logical manner, helped ensure accuracy in their final answer.
Q9.

This question was testing quality of written communication so it was pleasing to see the vast majority of candidates supporting their decision with working. Most working was well laid out but there was still some confused working in evidence which made the awarding of marks more difficult. Many struggled with finding 2.25% of £60; often the starting premise was incorrect with a statement linking, for example, 1% of £60 with 6. When a build up method is used for percentages it is vital that candidates either get their initial statement correct or show full working if they are to gain any method marks. More success was evident with the calculation of 1.5% of £60. The starting point of 1%, 0.5%, 0.25% was more successful than 10%,5%,2.5%. In questions testing quality of written communication where a decision needs to be made, this must be communicated by means of a written statement, it is not sufficient to circle the right answer. The vast majority realised this and concluded with a statement that was correct for their figures.
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	Question
	Working
	Answer
	Mark
	Notes

	1
	
	
	58.05
	4
	B1 for identifying 19.5(0) and 15(.00)

M1 for a correct method to find the total cost of their  identified tickets for the family, or for a correct method to find the discounted cost  of at least one of the identified tickets

M1 (dep) for a correct method to find the total discounted cost of their 1 adult and 3 child tickets

A1 cao  

	2 
	
	
	488
	3
	M1 600 × 67.1 (= 40260) or 67.1 ÷ 82.5 (= 0.813…)

M1 (dep) “40260” ÷ 82.5 or “0.813..” × 600

A1 

SC: B2 for 712

	3
	(a)
	
	522
	2
	M1 450 × 1.16 oe

A1

	
	(b)
	
	736.26
	3
	M1 850 ÷ 1.16 oe (= 732.76) or 732 – 733

M1 (dep) “732.76” + 3.50

A1 Accept 736 – 736.3

OR

M1 for 3.50 × 1.16 (= 4.06)

M1 (dep) for (850 + “4.06”) ÷ 1.16 oe

A1 Accept 736 – 736.3

	*4
	
	A = (78 + 52 + 165) × 2 + 236  =  295 × 2 + 236  

= 590 + 236 =  826

826 × 0.95 = 784.70

B = (68 + 48 + 160) × 2 + 242 =  276 × 2 + 242 

= 552 + 242 = 794

794 × 0.97 = 770.18
	Shop B


	5
	M1 for finding the total cost for 1adult and 2 children for lift passes for 6 days  in either shop A or shop B  

e.g. 236 + 2 × 165 or 242 + 2  or  2 × 160 or 236 + “330” 

or 242 + “320” or 566 seen or 562 seen

or the total cost of 2 children only for ski hire and boot hire for 6 days in either shop A or shop B   

e.g. 2× 78 + 2 × 52  or 2 × 68 + 2 × 48  or “156” + “104” 

or “136” + “96” or 260 seen or 232 seen

	
	
	Shop

A

B

Skis

156

136

Boots

104

96

S & B

260

232

Lift(Ch)

330

320

Lift (Ad)

236

242

Lift total

566

562

Total 

826

794

%age off

41.3

23.82


	
	M1 for a complete calculation of cost for shop A or shop B  

e.g.   (78 + 52 + 165) × 2 + 236 or (68 + 48 + 160) × 2 + 242 

or “295” × 2 + 236 or “276” × 2 + 242 or 826 or 794 seen

M1 for a correct method to find the reduced cost for shop A or for shop B

e.g.   “826” × 0.95  or “794” × 0.97          

A1  for (€)784(.70) or (€)785 and  (€)770(.18)  

C1  (dep on M1 scored)  ft for ‘cheaper shop’  identified 



	5 
	(a)
	 
	2600
	1
	B1 for 2600

	
	*(b)
	£100 

 1300 rand

3700 rand 
£285

Computer  
4680 rand

Watch

5200 rand

Camera

4875 rand
	computer, camera
	3
	M1 for method to convert 3700 rand into £ or for changing one amount in pounds into rand

M1for a complete method to compare total money Simon has with the cost of each item 

C1 (dep M2) for correct conclusion with correct figures                   e.g. £383 - £386 or 4950 rand to  5050 rand



	*6

	
	e.g.

£25 = $40, 

so £100 = $160

£20 = $32, 

so £40 = $64

£100 + £40 = $160 + £64 = $224 (London)

$220 (New York)< $224(London)
	New York is less expensive
	4
	B1 for stating a correct conversion fact from the graph           $40 ≡ £25oe

M1 (indep) ft for a complete method to convert £ to $ using their conversion fact e.g. 40÷25×140 oe

A1 ft for $224

C1 ft (dep on M1) for more (expensive) in London oe 

OR

B1 for stating a correct conversion fact from the graph          £25 ≡ $40 oe

M1 (indep) ft for a complete method to convert $ to £ using their conversion fact e.g. 25÷40×220 oe

A1 ft for £137.5(0)

C1 ft (dep on M1) for less (expensive) in New York oe 

	*7
	
	6.50 × 36 = 234

234 + 320 = 554

36 ÷ 4 = 9

26.50 × 9 = 238.50

36 × 7.50 = 270

270 + 238.5 = 508.5

OR

320 ÷ 36 = 8.88(9)

8.88(9) + 6.50 = 15.38(9)

26.50 ÷ 4 = 6.62(3)

6.62(3) + 7.50 = 14.12(3)

14.12(3) × 36 = 508.50
	£508.50
	5
	M1 for using 36 × correct entrance price,                                 36 × 7.50 or 36 × 6.50

M1 for using correct travel cost,                                                                320 or “36 ÷ 4” × 26.50 (238.50) [condone 320 for concert and “36 ÷ 4” × 26.50 (238.50) for theme park]

A1 for 554 cao

A1 for 508.5 cao

C1 ft for identifying, in words, the cheaper venue from 2 calculated amounts. One amount must for the theme park and one amount must be for the concert

[Note: the 2 calculated amounts must each be of ticket plus travel costs]

OR

M1 for 320 ÷ 36 [= 8.88(9)] or 26.50 ÷ 4 [= 6.62(3)]

A1 for 15.38(9) or 14.12(3)

M1 for “14.12(3)” × 36

A1 for 508.5

C1 ft for identifying, in words, “the cheaper cost per student gives the least total cost”.

	8
	(a)
	
	6.40 to 6.80
	1
	B1 for answer in the range 6.40 to 6.80

	
	(b)
	
	3.40 to 3.80
	1
	B1 for answer in the range 3.40 to 3.80

	
	(c)
	Using an initial value of $n
$n = €(n ÷ 1.4) converts $ to €

€(n ÷ 1.4) =                        £((n ÷ 1.4) ÷ 1.1)  converts € to £

$65 = £((n ÷ 1.4) ÷ 1.1) × (65 ÷ n)  scales to £65


	40 to 44 inc
	4
	M1 for method to find 2 matching figures for dollars and euros.  May be calculated or from graph.

(To check accuracy if values read from graph, apply exchange rate of 1€ : $1.4 and accept correct value in euros  ± 1€)

M1 for method to find 2 matching figures for euros and pounds.  May be calculated or from graph.

(To check accuracy if values read from graph, apply exchange rate of £1:1.1€ and accept correct value in pounds  ± £1)

M1 (dep on award of at least one other M1) for using 65 ÷ n where n is initial value in dollars used.

A1 for answer in range 40 to 44 inclusive 

	*9
	
	2.25 × 60 ÷ 100 = 1.35

1.35 + 0.80 = 2.15

1.5 × 60 ÷ 100 = 0.90

0.90 + 1.90 = 2.80

OR

2.25 – 1.5 = 0.75

0.075 × 60 ÷ 100 = 0.45

0.80 + 0.45 = 1.25

1.25 < 1.90
	Rail tickets with correct calculations
	
	NB. All work may be done in pence throughout

M1 for correct method to find credit card charge for one company e.g. 0.0225 × 60(=1.35) oe or 0.015 × 60 (=0.9) oe

M1 (dep) for correct method to find total additional charge or total price for one company e.g. 0.0225×60 + 0.80                   or 0.015×60 + 1.90 or 2.15 or 2.8(0) or 62.15 or 62.8(0)

A1 for 2.15 and 2.8(0) or 62.15 and 62.8(0)

C1 (dep on M1) for a statement deducing the cheapest company, but figures used for the comparison must also be stated somewhere, and a clear association with the name of each company

OR

M1 for correct method to find percentage of (60+booking fee)

e.g. 0.0225 × 60.8(=1.368) oe  or 0.015 × 61.9(=0.9285)

M1 (dep) for correct method to find total cost or total additional cost e.g. '1.368' + 60.8(=62.168) or '1.368' + 0.8 (=2.168)        or '0.9285' + 61.9 (=62.8285) or '0.9285' +1.9 (=2.8285)

A1 for 62.168 or 62.17 AND 62.8285 or 62.83 OR 2.168 or 2.17 AND 2.8285 or 2.83

C1 (dep on M1) for a statement deducing the cheapest company, but figures used for the comparison must also be stated somewhere, and a clear association with the name of each company

OR
M1 for correct method to find difference in cost of credit card charge e.g. (2.25 – 1.5) × 60 ÷ 100 oe or 0.45 seen

M1 (dep) for using difference with booking fee or finding difference between booking fees e.g. 0.80 + “0.45”(=1.25) or 1.90 – “0.45” (=1.45) or 1.90 – 0.8 (=1.1(0))

A1 1.25 and 1.9(0) or 0.45 and 1.1(0)

C1 (dep on M1) for a statement deducing the cheapest company, but figures used for the comparison must also be stated somewhere, and a clear association with the name of each company

QWC: Decision and justification should be clear with working clearly presented and attributable


 National performance data from Results Plus
	Qu
	Spec
	Paper
	Session
YYMM
	Qu
	Topic
	Max score
	Mean % all
	ALL
	A*
	A
	B
	C
	D
	E
	F
	G
	U

	1
	5MB3F
	3F
	1311
	Q19
	Money calculations
	4
	78
	3.11
	 
	 
	 
	3.70
	3.41
	2.55
	2.04
	1.32
	0.50

	1
	5MB3F
	3H
	1311
	Q6
	Money calculations
	4
	94
	3.74
	3.95
	3.85
	3.81
	3.66
	3.55
	2.50
	2.84
	1.75
	1.50

	2
	4MA0(R)
	2F
	1501
	Q17
	Proportion
	3
	77
	2.30
	 
	 
	 
	2.67
	2.08
	1.33
	0.50
	 
	 

	2
	4MA0(R)
	2H
	1501
	Q01
	Proportion
	3
	92
	2.77
	2.94
	2.84
	2.40
	2.39
	2.43
	0.83
	 
	 
	 

	3
	4MA0
	1F
	1506
	Q19
	Proportion
	5
	65
	3.23
	 
	 
	 
	4.40
	3.72
	2.79
	1.72
	0.82
	0.25

	3
	4MA0
	1H
	1506
	Q07
	Proportion
	5
	89
	4.44
	4.77
	4.53
	4.33
	4.03
	3.16
	2.20
	 
	 
	1.15

	4
	5MB1F
	1F
	1211
	Q19
	Percentages
	5
	45
	2.23
	 
	 
	 
	3.94
	3.61
	2.69
	1.67
	1.00
	1.00

	4
	5MB1H
	1H
	1211
	Q08
	Percentages
	5
	80
	4.01
	4.91
	4.59
	4.25
	4.05
	3.50
	2.29
	 
	 
	 

	5
	1MA0
	2F
	1406
	Q18
	Interpret conversion graphs
	4
	52
	2.08
	
	
	
	2.96
	2.61
	2.27
	1.88
	1.45
	0.83

	6
	5MB1F
	1F
	1206
	Q06
	Interpret conversion graphs
	4
	18
	0.70
	
	
	
	2.38
	1.49
	0.66
	0.24
	0.05
	0.04

	7
	5MB1F
	1F
	1103
	Q14
	Money calculations
	5
	50
	2.48
	
	
	
	
	
	
	
	
	

	8
	5MB1F
	1F
	1106
	Q09
	Interpret conversion graphs
	6
	20
	1.22
	
	
	
	
	
	
	
	
	

	9
	1MA0
	1H
	1206
	Q10
	Percentages
	4
	55
	2.19
	3.64
	3.20
	2.70
	1.78
	0.54
	0.16
	
	
	0.02
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